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U.G. 5th Semester Examination - 2020
COMMERCE

[PROGRAMME]
Generic Elective (GE)
Course Code : BCOM-G-GE-T-01

Full Marks : 60 Time : 21 Hours

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions from the following:
2x10=20

faferiae emtafes St @-e wift 2o Ted mie ¢

1)  3,x,y, 15arein A. P. Find the value of x and y.
TGS 29l ore ARFCE X € y 9 T+ ey 4|

1) If1, 3,9, x are in G.P, Find their sum.

W 1, 3, 9, X BrETex Aifere A ©F Simd 7
[ 9|

iii) Prove that log}¢ =2 log;,+2 log;,

2 F9 @, log;, =2 log;,+2 log;,
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. X
Evaluate: lim—;
x—1 X —1

x> -1

foief =1 lim —

x=1 X7 —

. d /s
Find the value of d—X(X )atX=1.
d s
x=14dg &(X ) O3 I 27 91

Find the interest of Rs.400/- at the rate 5% per
annum compounded annually after two years.

5% S w400 TIFR w2 I 7K b @ 2R
fefa < |

(ZX)X =512 find the value of x.

(2*)x =512 T, x G99 Wi 7o 4|

2, x,yare in A.P. and 2, x, y+2 are in GP. Find

value of x.

2, X, y ST Aoifore itz @K 2, X, y+2 @eled
25ifSTe SNz | O x G T folofm 3|

If mean of 1, 2, 3 and x be 3 find value of x.
1,2, 3 @3 X 93 G 51T 3 T x G T (el 54 |
Find Harmonic mean of a and b.

a, b @q Harmonic mean ¢ 4|
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xi) Find Standard Deviation of 1, 2, 3. i1) a, l, p are respectively 1st term, nth term and
product of first n terms of G.P, then show that

p* =(al)"-

M a, 1, p (P19 Qe 29ifo & 217, nON 27 4%
ALY n AP AMT BITFe 2 O(F AV F4

1,2,3 @3 SD fefg 54|
xii) Ifthe median of4, 9, x be 7. Find the value of x.

4,9, x 93 median 7 T x 9F T 6f7 9

xii1) Find The mode 0of7,4,3,5,6,3,3,2,4,3,3,4,

2 — n |
4,3,2,2,4,3,5,4,3,4,3,4,3, 1,2, 3. p*=(al)
s awe e @ mode el 9 | iii) If sumofnterms of an A.P be 3n?+5n then which
term is 1527

7, 43 3, 5, 63 3’ 3) 2) 4’ 3) 3’ 4) 4’ 3) 2’ 29 4’ 3’ 57
o 2
4,3,4,3,4,3,1,2, 31 M (P AT 2oifeF n FRAF AW 7S 3n’+5n

7 O O T OF A 1522
xiv) Define Histogram.
iv)  Find the SD of the following grouped frequency
Histogram &3 el Wi |

distribution:
xv) Find the Mean Deviation of 1, 2, 3. S5a %% (2eE SD e 34
1,2,3 43 MD fevefa 1 Marks [120-124{125-129[130-134 {135-139|140-144145-149|Total
2. Answer any four questions taking two from (i) to (iii) 5 i
and another two from (iv) to (vi): 5x4=20 No. of
(F-(FIET BITS 2o Tex e (i) (A (i) 28 b @<k students| 12 25 28 15 12 8 | 100
(iv) (A (vi) 21 7o e ¢ REE S

logx logy logz

1) If then prove that xyz =1.

y=7 z-X X-Yy

2 log’; _logy 1087 oy ot emrie 1 @ xyz
y=7 z-X X-Yy

=11
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v)  Find the median of the following frequency

distribution:
oA = (A median 76T 54
Value 1 2 31 4] 5|6 71 8 |9

o

Frequency |3 | 8 [ 12| 172618 | 9] 3 |1
QB

vi) Below is the frequency distribution of weights

of a group of 60 students of a class in a school.

N @6 e b @ETF vo & BItEd ST
G35 Sz Reiem el itz |

Weight in kg 30-34| 35-39 |40-44 |145-49 | 50-54 | 55-59|60-64
@& T

No of students 3 5 12 18 14 6 2

2lq R

Draw the histogram and find the model value.
Histogram ®Ii% @ model value #¢f3 5|
3.  Answer any two questions taking one from (i) to (ii)
and another one from (iii) to (iv): 10x2=20
@I 9f6 A Tea e (i) @ (ii) (A @i @3 (i)
8 (1v) (AF QFB I ¢

. logt dy
1) a) If x=tlogt and y:T find e when

t=1.
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b)
1) a)
b)
i) a)
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logt d
ﬂﬁxztlogtﬁ?ﬂy=7giﬂw%ﬁ®

FIILt=11 5

M _y o X 5
Find i when y=x*+x’.

d
y:xx+x5®W§ﬁ®w| 5

Insert four Geometric mean between 5/9
and 135.

5/9 @3] 135 @3 gy 5 Wreledy TS
G | 5

A sum of money invested at C. I amounts
to Rs.11,236/- and Rs.11910.16/- at the
end of second and third year. Find the rate
of interest and the sum.

berqia 2I(H (g B 132d ¢ Toqaed 219 i
@ e el IA@ T 11,236 BIl @8
11910.16 5156t | I #ifqtiel @ s =
27 foefa 54| 5

For the variable x and y the equation of
regression lines of y on x and x on y
respectively are 4x—5y+33=0 and 20x—
9y=107. What is the correlation co-
efficent? If variance of x is 9 find S.D. of
y. Also find X and y.
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i 561 X AR y @F y @3 T X €K X 9 T
y @3 regression equation IVMGFCI 4x—
5y+33=0 @3k 20x-9y=1071 ©I
correlation co-efficent 5T 31 x @3
variance 9= y S.D. §9? XAR y ¢ efx

3

5

Rl 7
b) Define co-efficient of correlation.
Co-efficient of correlation @3 A& 7S |
a) Find two regression equations from the
following data.
159 =5 (A& Regression Equation o3
*4:
x| 621014 |8 |12]| 14|16
y| 9115 |8 |7 |11 |16]18
b)  Find the coefficient of variation if the sum

of the squares of the deviations of 10
observations taken from the mean 50 is
250.

Coefficient of variation @ =g I 101
FIEHEE T 50 (A deviation € A
@orrs 250 27 | 5
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